000000000000046000304000020100 100

oooobbbobtobodoooobbobood
— 0000000000000 0000000000o0o00n
00000000000 0000000000000—

goboo*pooaogg **

goo

1 0000

20000000000 b00ooooD.
goboboboobooboboboobobo

3 U00Ooboobooooboobogoon

4 J0O0O0ODOODOO:bobob10bOogos

5 00OOo

googd

1 0000
ggobboomuooobooobobbooobbooobbooobbooobboo
goorxmjoooboobobooobooboboboooboobobooobbooboobOooDoOoon
goboobooboob»>cboobboobbobbobbobbobsobooboobo
0 0 0 Kawashima (1980)0 0D 00 002004020070 0 0000000020000 000000
gboz2o00000000000DOO0OO0OODOODbDOO
goobbooobobooobbooobbooobboooobboobobbooobb
goboobobobooo
gimogooogooooobooboooooobobooooboobobooboboobooDo
goboobobgoobboooboobbooboobbooboobbooboo

*0000000000

*#*0O0O0O0000000000

oobooooooOoooooOoO0oOO0O0OoboOoOoOOO0O0OCOOOOOOO0OOOOOO0OO00n

00000000000 Wolfram Research Inc. (2004) D0 000O00O0O00OCO

U0 0000000000000 0000000D00D 0O general equilibratory demand level D OO0 OO0 OO0O0O0O
0o0o0o0o0obD0b0oobO0obO0ob0O0O0bDODOO partial equilibratory demand level D OO0 00000000
g2004020070000000O0OC0O20000000000O0200000000000000000000D0O0
oooooOooooooO0o00ooooOooOO0o00ooooOo0oooooDoooOn

1



00or'0000D0Ooon
0200000000000000000000000000000000000000
00000000 0000000000000000D000000D0000000
00r'0000D0OoD
03000000N0000COOPOOODOOOOOOOODOOOOOOOMOOOD
00MoOOOMOOO0OO0O0O0O0O0O0O0O0D0D0ODODOO0OO0OOOOOO0O0O0O0O0O0O0OO0
oooDooOgeeonono
040000000 0000000000000000000000000O0O00000
00000000000 000000O0D0D0D0DD0000000000ooooonoDn
0000000000000
O500000000/N, M) OOOODOOOO3000000000000000000
POKMN, M)000D000000000000O0MOOOOO0O0O0 Ok(N,M)oM
000O0oDo0000000000000000MO0000000O0®000000
00oMOOO0OO0OO0O0O0O0O0OO*000000000MO00OMO0000000
0000000000000 DD0O000
0000000000000 000O°00000000000000000000000D0
00000000000000000000000002004000000000000MM0
0000000000 0000D000000D0000000000000000000000
OoMODOOOODODOOOOOOO

2 DOoodobooobboooooQ
dddddoddoodoooooououooo
gooooooooboooooboooocooNopPOOMOODOMmMOOOOOOOOOO
gobobooooobooooooooo vy M)OOO0OD0OO0OO0O0D0OO

g0 ooboooomooooooooooooooooboooomoooobooooOoboooooo
0 O I Agglomeration external economiesC] D 0 000000

o0 oooooooooooomo3poobo0o0oooooooooboOoO0oO0oOoOoOoOoOobobooOoOooOooboo0Oo
go0d0204000000000C0CO0O000O0OOOOCOCOOOOOOOOOOOOOOOOOOOO
oo

oo oooooomooOoOoOoOOOOOOOOCOOCOOCOOOOmObDODO240000000000
goooopoOoo0oooooOoO0O0oO0O0ooooOoOO00o00ooooOoOo00oooooooOoOo0oooooooon
0000000O0nDo00000MmOnDOoUD M High-price external economiesd 0000000000
gooooooooooooOO0o0o0OoooooOOO00o0OoooOO0O000oooOoOOOO0DO0O0BOODOO
gooooooooooOooOoOoooooOoOoOoooooOoOOo0DOOoOoOOOOOOOODOO

ooMOOOOOOOOOOOOOOOMOOOOOOOOOO0OO0OOCOOOOOOOOO0OOOOOOOO0O0
gooooooooooboO0oOoOoO0OooooOO0OO0OO0O0OOOoOOOOOOOOOO0OOOOOOO

goooooooooooooom

oooooooooooom

optbobooobobodoobooobobooobooobobo0ooboouoDooOdwaltersO 19610 0000000000DO
0000 BuchananO 19650 0000000000000 O0COOOOODOOOOOOOODO

2



00000000000000000000m@mOo0000o0

P=nN, M)=20 N0O2M0O 10000000000 000000010
gooooOMO200NOOOOPOOO

gigooNOMOPOOODODOODOODODOO1IODO0DOOOOr owoxgouo
gbooooboooooo
gooooobooobooooMbogobobooobpOogbboNgbobOoobDbOg
MOopOD0OOO0OOO0ODO™MOO0OOO0ODOOO0220000000000000000T ©6A0
oooNOMOPODOODOOOODOOODOOODOOOODODOODODODOO
ggobboooNOPOOOODDOOODLDO3O0O0ODLDODMbDOOO0ODLD™DDOOO
obobooom@oooooboobcBAbD0DO0bOOoooOBOOOODODOOOOODO CBA
ooobobpO0b0O0ONODODODODODODODOOLOOLDOLOOOOODOODOOO
gooooooooboobobbbbboooooooooooooboobobobobpp*=nobbooood
goopbbobooooboooocsboboooooppbogoooooooBADODOD
oOopbOOOOOOOOOmMIODOOMOPOOOOOOOOOO P=KN, PPOPOOOO
goboobobobdobopiN)DOooboooobooobgd

goopb0OdoooOn DD(N):

P:DD(N):(3—«/9—8N2)/4 C e s e e e e e o w e e e - (2)

fEL, 0.0=P=0.75 H-> 0.0=N=,/9/8 (=1.0607),

U oobpbdboodond DD(N):

p:DDﬂV):(3+m)/4 ................ (3)

fEL, 0.75=P=1.5 H-> 0.0=N=,/9/8 (=1.0607),

1o MopoOOCOCOOO0OO0ODOOOOOOOOOOOOOMOOOOOPOODOOOODOOOOOOODOOO
gopO00CO0O000ONOOOOOOOODOOOOOOOOOOOOOODOOOOOOODODODOO

120 Derived demand0 O 0 00 00O00O0D0OO20040000000000000000O000O0000O0OO
go07000000000O0O00C0OCOO0O0ODODOOOOO

3



oiuoNOMOPOOOOOOO0O0O0O0O0O0O0

ooo

0D10NOPOOMOOOOODDOOOOODOOOOOOOO0000O0O

020 NOMOPOOOOOOOOOOODDO:
0OrowoXxOoOuOOoOOOOOOO000O000000000000 h(N, MO0
00000000
P=h(NM)=20OND2MO1f0 0 00000MO200NO000 POOD



00000000000000000000m@mOo0000o0

gz200ooooooobooboboboobo

M—P¥E@E LD
45°43

(51.4142)
05

0.0

oo

010 NOPOOMOOODOOODOOOOOODOOO0OO0OO0O00O0

020 00Or ©@A:00000000
0000000001000000000000000MO POOOOOOOOONDOM
OPODO0OODOOODODOODOODOOOOOODmM

030 000000 h(N,M):
P=h(NM)=20ONDO2MO1f0 0 00000MO200ND000 POOD



ggdooooooooooooooooboboooooooobboooooooooDbDDOd

p
1.5 A
1E % DDt
L= — e e e e —
0.75¢— — — — — — — — — — — — B (1.0607, 0.75)
O Fgoowm 0 A
(DD DLERL IR 4Y) |
pie oé N
1.0 v9/8
=1.0607
ooog

010 NOOPOODOOOOOOOOOOOOOOOO
020 D0OCBAODDOOIOOODOOODOOONOOONODOONOOONOOONOOODOOOO
OO0 ooooo
00O0cBODOOOODDOOOOOOO(@ODDOO):
P=1/430V908N2 )J0O0D0000PO0.7500 0.00NOV980
0 00BAODODOOOODDOOOOOOO(DODDOO):
P=1/4(30V908N?)00000.750P 01500 0.00NDOV9/8 DO
0300B:DDON00ONON0ONONOODDOONONONDNCNODNOOONODNOODOODO
OO0 Om



00000000000000000000m@mOo0000o0

3 D000boboooboooooooo

pbOOb0O0OOOoOobOOoboOoboooGSBUb0dboobooooooobooboboboDo
gbooboooess*boooooboooeSsOobuobooboooonodan gSeN)0noaoo
gboooopbpU0bogoooooEN,pUbDOO00OD0O0OD0O0O0O0ODO0O00O0O0ONN,M,PO0O
oooooobooooooobopPODOMODODOOOOODOODOONM,M,PHOON, M, MO
gobomMboobooooomonnw, MyMoooooNDPOODDDDODDDDDDDO
goooooovwoobobooosboPONKN, M) DODDOODOODOPU KN, M) ODNO
o0ONONDOODOODOOOODOONDOOOODODOOMOODODOOODODDODO
gbOGesSpN)ODOoOooOoobobooooppoboboooobpbubooooboaeSsOOn
gbobooooobaeSsBObDOoOoOooGSBOOOOooOoOoOoOooooGSeN)DOO0DOOOO
opooo

gobaGaeSBOOOODOO GSB(N):

P=GSB(N) = Aj.h(N, M )dN

M=M

giooooo
P-= ]]{Z—NZ—Z(M—I)z}dN
0 M=M

cooooocooooocooMOopPOOOoO20000O

N
P= J.{z - NZ - Z(M - 1)2 }dN M:P:DD(N)=(3~\/9—3T)/4
0

P:N{2/3N2+(3—W)/4} e,

L. 0.0=P=9v2/8 (=1.5910) H> 0.0=N=./9/8 (=1.0607).

13[1J Gross social benefit(] [1 0 [ [J
40 0000000000000 0000000000D000ODDOOO00O0OOD0DO00OOoOo0oOooOoOn
150 00000000000000DDIN0D00O0D0DOO0DOO0nDOg

7



0ooaeSBUOOOODOO GSB(N):

P=GSB(N) = ?h(N,M)dN

M=M

o1ooooo

P= ?{2—N2—2(M—1)2}dN

0 M=M

ooooooooooooooMOopPOOOO300000

N
P= I{Z—N 2= 2(M ~1)* AN wpwo0-{3+457537 ) s
0

P=NPAN +B4VO SN Jaf -

fEL, 0.0=P=1.6855 H> 0.0=N=,/9/8 (=1.0607).

good4000dbsoooobbbo4bbbbbbbbbobbbbbo o
CBoB1B2B3B4BsC 0 U GSBUO O OO D OO ODOOOOOOOODO CBoB1B200 O 00 O B2B3B4B5C
goooboboaeSBOOOUOOOGSBOOOOOUOOoOoODbOOB2OGSBOOOOOOO ™
godddBgddBsOopooGeSBOOoogoooooooooood

goGcSBOOODODODODODU0DOooooooMSB"OooooooooooMsBOOOd
goo0oo0oooboDbD MSBN) DODODUOUOOODOOGSBNM)DUOUOUODODODOOOMSB(N)UO
GSB(N) UNUOUOUOUOOOOOODODbObOObObbObOooooobbobobboODbDbOOoono
goMSBOOODOOooOoooooooMSBOOOOOoOMSBOOOOOOOAMSBN) ODOOO
gooooog

160 JO0O0GSBOOOOOOOODO
1710 Marginal social benefitd) O 0 O O



00000000000000000000m@mOo0000o0

g40000000b00Db0b00O0b0O0ob00oboobOobOoboeGseOOn

P
B3 (1.0316, 1.6855
(gasnt _ BeUONIG LSRN,
il o
: (1.0607, 92 /8 1.5910)
sooe  Bs(0.7710,12809)
1166 4— — —— — — — —
18 ¥ GSB i —
(GSBHfi#t o . )
@%%ﬁﬁj\y) FIGSBHh#
0.4867® — — — R | | | (GSBHE#EOFEKEHERSY)
| |
|
Lot
0 0.7710 l.Ot\/9/8':.1.0607
1.0316

ooo
010 NOOPOOOOOOOOOOOOOOOOOO
020 00O0GSBOOOOOOOOOOOOOGCSODOODOONDOO
030 OO CBoB1B2B3B4BsC:
GSBOOOODOOOOOOOOOOOOOONOOOOOOODOOO
0 00 OOCBB:B.000000000DDOOONODODNGSBODNO(GSBOOOOODO
OO0OO0O0GSBOO):
P = N{2/3N*+(3 0V 9 0 8N? )/4}0
0000.00POW2/80=1.5910000 0.0 0N OV9/8 0
0 00B:BsB«BsCO0DO0OO0O0O0ODDOONONONONONONGSBOODO(GSBOOOOODO
00O0DO00GSBODO):
P=N{2/3N*+(3+V9 08N? /40 0000.00P 01685500 0.00NDO V980
040 OB GSBOOODODOOOOOOOGSBOOOONOOOONOOOONOOOOOOOOO
0m
050 OB:0O0GSBOOOODOONODONOGSBOOOPOOOONDOODOO
060 OB:OOO: (1.0, 7/6)00BsO 0 O: (1.0, 5/3)0
070 OBs:00B2BsB«BsCO O OO ODO
080 OOCBB:B:000COOO0OOONONOO:0.00
090 OOB2BsB«BsCOONOCIOOONONDOOONDO:1.50




0O0OMSBOODOOOD MSBN):
P=MSB(N)= dGSB(N)/dN

400000

P= afE\f{z/fsN2 +(3—\/9—8N2 ) 4H/dN
P 1/ARNT £34 (16N —9) NI 8NT |« e e e e (6)

fAL, P=0.0 -5 0.0=N=,/9/8 (=1.0607).

UooMSBOOODOODO MSB(N):
P=MSB(N)= dGSB(N)/dN

osgooooon

P= dEV{2/3 N+ (340 -8N? )/4H/ dN
" P:1/4{8N2+3+(9—16N2)/\/9—8N2} ----------- (7)

fEL. P=1.8769 H 0.0=N=,/9/8 (=1.0607).

gobedbbDO7bDOOOO0DOSsSOOO0ODLDOOODLDOOODDOOOD20DO000
00000 CFHOOOMSBOUOOOOOOKKiIADOOMSBOOOMSBOOODOODODO
gogd

gobooboooobobboooobbboooooboon N—’\/9/_8[IEIDP—»D00D[IEIDDDD[I
NDD\/‘)/_g—ODDDODDDDDDDDDDD (\/9/78—0,—00)DDNDDDDEIK’
(1.0316, )0 O O O K1(0.7710, 1.87690 00 000O0O00O0O0ODO A, 15O0OD0OO0OO0O0OO
goorogoMSBOOODODOMSBOODUOOODODDODOOOODKIOODO KOO0O0MSBOOOO
goboooooooooo

DDOOOO0300OoMSBOOOOsSOOOOOONOPODODODODODOGODODOODO
gobcobooAbgboooQubouubood

10



00000000000000000000m@mOo0000o0

gos000pbOo0oOoooesBOOOOOOOoOOoDOOoOoOoOoOoOoooMsBOOO

P
H
'
{ERMSBHifR ~ — |
@mBﬁﬁ®ﬁﬂ+ﬁﬁ‘
|
~ |
F (0.75, 1.8750) . |
1.8750¢— — — — — — — __}r_Kl (0.7710, |1 .8769)
17391 _— — —-_“'K‘ 'l ‘ Q‘ |
A - 2
1.5 mmw " | " H “
e ’
e o
. Q’ (1.0, 1.0)
1 S i
o | h :
‘ | |
R | K
- | | H K’ (1.0316, 0.0
O".“‘ i u “#/ (1. ,,)N
c 0.5219  0.750.7710 1.0, N9/8=1.0607
ﬂ
1|
u
EMSBh#E  —

(MSB i # D18 B 4) Y

ooo
010 NOD PODOOOOOODOOODOOOOOO
020 000OMSBOODOOODOOODOODOODOMCSOODOOOODOO
030 OOCFHOD DOKKIAMMSBOOUODOOOOODOOOOODOO0O0OO0O0D0O00O00DO0
oooooo
0000 0OO0OCFHODOOODOODDOOOODDOOMSBOOOOMSBOODOODOOOODOOO
OMSBOO):
P = 1/4{8N2 +3+(16N209)/Y9 O 8N2}J OO OIP O 0.000 0.00 NOV 9/8 0
0 00KKIADOODOODODDOOOOOOOMSBOOOOMSBOOODOOOOODOO
OMSBOD):
P = 1/4{8N2+3+(9 0 16N?)/V9O8N2}0 00 0OP DO 1.8769 00 0.00 NO v9/8 0
040 [ /98 1/4{8N2+3+(16N2 0 9)/V 9 0 8N2}dN O 1.59100
000D000D00D0000ON=9/8000004000GSBOO00OO0OOOONO
oooi5910000000
050 J 4% 1/4{8N2+3+(9 0 16N2)/V9 0 8N2}dN O 1.59100
U0000000D0000O0ON=Y98000004000GSBOO0UDOOOODOODO
oooa5910000000
060 OKu:OOMSBOOKKIADDOOO
070 OK2OOMSBOOKKiIADOODOOO

11



ge0dOoooOoOoobbOoO0OdOoooOooooomMmsBOO):
NOPOOODOOOOOO

P
o
'<—| FEMSB
4
! |
F (0.75, 1.8750) - |
Lgs0g- — — D (07710, |1 8769)
1.7391¢— — — — — 5 QAR
1.5 s |
' A;/HEE%DDEIH%%
J
06 T__H___‘Q|(1.o,1.0)
4
0.75 77ii7‘o#ffﬁ>——‘ B (1.0607, 0.75)
05418 — — — —, %+ +— — — ‘H:_ = d)(l 0190, 0.5418)
4
4 ||
| 'K (10316,0.0)
0 "f N
0.5219 0.750.7710 1.0, N9/81.0607
l|
TESDD il .|
HHMSB i ————, g
.
K

ooo
010 NDO POOODOOOOODODOODOOOO
020 OOCBA:DDOOOODOODOOOOOODODO
0 0ocBOUOOOOOOODDOO:
P=1/4@0V908N2)JDDDO0.00 PO 07500 0.00 NOV9/80
0 00BAUDOOODOODDOO:
P=1/430v908N) 00000750 PO1500 000 NOV9/80
030 OOCFHOOOOKKIA:MSBOOOOOOOODOODOODOO
0O OOCFHOOOOOODDOODOOOOOOOMSBOOO
P = 1/4{8N2 +3+(16N20 9)/V9UBN2}J OO OP O 0.000 0.00 NOV9/8 0
00O0KKIAODOOODOODDOOOODOOODOMSBOOO
P =1/4{8N2+3+(9 0 16N2)/V9 U SN2} OO OO PO 1.876900 0.00 NOV9/8 0
040 OB:DDOOODOOODOOO
050 OKu: OOMSBOOKKIADODODO
060 OKz: OOMSBODOKKIAODOODODO

12



00000000000000000000m@mOo0000o0

4 JO0O00O0O0ODOO0O0O:00001000005
obooooooboooOooOooobOOobOOoOobocOoOoOobOOoOobocOoOoOobOOoOoboOoOoDOnn
oooboooooboooobooooobooooobooboooooboboOoooobooOooooboOon
goboboboboooooi1cobooogsboosoooobogoopb0bO0Ob0OO0OOO
oooopN)ODOO0O0s00POOOOO0OOOCOOOOOC

gigoobgooiopPopnN)001 ODDOODODOOODOODOOODOOODOODOODOOO
g2o0gpooo220pPopnN)0O0Ss ODOOODOOOOODOOOOODODOODOODOODOOO
g3ggoogos3sopopnN)DoO7s00000000DOO0OOODOOOOOOOOOOO10O
40000040 pPOpN)D10 DDODOOOODOODOODOODODOODOODOODOONDO
gsogpooosobpopnN)0O1Ss O0ODOO0OOOODOOOODODOOODOODOODOO2O

pOO00O0O0OOCOO*O0OO0OODOODODOOPAN)DDODODOOOODODODODO
MSCIN) ODODOOOOOPN) x NOONODOOODODODODOOOOOOD pN)DOOOO
gbooooMmsanN)Od pN)OODOODOOOODOOOOOOOOOOMSC"O000OOPOO
gbooooboboooobooboboooobooboo
gooo1oooboosth py)DOD0OPOOOOOODOODOD LI OLL2000000
Lsb>sbbO0oooboooobobogetbbboooboOoo7onoboooboboooobogi
ogooigmo20000 o5o00o0o0boobo0oboE0b00ooooooooooooon
000000K0D0D00D0000000000000 Jr0000000000000000
DDDDZZDDDDmDDDDDDDDDDDDDDDDDDGiDDDDDDDDDD@
00000D0000000000GGYDDODODOO0D0O0O0DDO00000D0000000a
JTO O e 000 GyOOODOODOOOOODOOOO0OO0ODOO0 12000005t
gigogobogbooboobooboobooboobooboobboobbobbobo
gboobooooooootoro@™oxooooooDbDDOO00O0OO0DmOoobOoDbOon
goooooopbObOOOoOoODDUODOOODOODLOODOODLOODOODOnN
gooMSBOOOooOooooDoooDboobobooobDpboboobobOoobobOoOdn
gooMsBOUOOOOOODODOOOOOOOOoOooOoppOOO0oooooooono
oooobokxoobooMSBOOOOOOoODOooDOoOooOxroobooDDOOODO
goobobooboobboboobbobooboobboboo
g2000ob00booboooooobooboobooboobobob00owrb@myuROoD

sooooooomooooooooooooooooooooooooDoooon

19 Price0 0000

00000000000200000000000000ONOOOOOOOOOOOOOOOODOODOGODGOGOLBRDO
goooooooooooOoOoOoOoOoooOoOoOOOO0OOCOOOOO0OO0OO0OO0O0CCOOOOOOOOOOOO
goooooOoooooOoOoOoOoO0OooooOoOOO0OO0CoOoOOO0OO0O0OO0O0COOOOOO0O0OOOOO
ooooooooooooo

2100 Marginal social costd O 0 0O O

2MO000000000000000000000000000000ODO002000000000

13



goboobppbhboooobmobobooboboooobobooppuddobboobpbodd
gbooooboobobooooobgbrxoboMSBOODODOOOODODOODOOOO
gbooopbOoobooOooooooooboxbooMsSBOOOOODOOOoOOoOooOooOOO
gboobpbbdoboboooboobooboboobokoboboMsBOUbO4OoooooOoO
obooosr00000ODDOOODOODOOOOODOODOODOOODOODOODbObOOO
obobooooooboobobobooooooor00oboboboboOoboO
gobobboobobboroobooboo
g3jbgboboooooboobocGiobobobobooooobooGyd@™obGibobogoo
obppO0booboo@obooooooooobooboobpbbobooobpbbOdnoonOoGg
gbobooooboobobobcabooMSsOoboooooooooooooo
ogobppodboooboobobooGhbooMSBOOOODOoooDODOoOoDbOoooOoooDO
oooppOb0OoOobDOoobOobooobOoobOoGibooooMSBODOgooooO
gobobocaGyboooobppoobooobooboobooboobooboob
gi1igboobooogboooobobooooboboooogb N)Db 000 EQODDO
gooobooboroMSBOOODODOODOOO kRO DDOOOOODOODOOOOD
goooboooboobooobobooobbbooobbbooobbooobboooobobg
gbobooobooboooogbooooboboooobooooono

41 OOOOA100 70
sooboooobgoboobpO0O0DbOOO0OO0ODOOOOEIDOOODDODOODOOO
goobooooooE0DDOO0O0O0OO0OO0ODOO0ObOOO0O0OOOobOOobOoOobOOooOogD
goboobooBibooboobooboobooEbbOoboOobDO
gooooonoooMSBOOOOoOoOoooooooobOOobOOobOOobOooooonrog
ODDOOODOO0OOOODODONNT0000082970000000000000000
gogoobomooobobooobobooobbmbooobboooobbomooo
gooooooooonN=0529200N=1.0298000000000000000000OD0ODO
oooboooooboLikKiAOOOO1s8240 00000
gogobbbooooobo e goobobboooooobobboooooobobbooooo
gooogoogbooonN=00000000P=000000000O0O0DOODODODODODO
00000 P=0.100000000000000000NNT000(0.829700000000
ggogugogoogep=0.100pP=0929700000000000OM0O00000 P=0.000
P=08297000000000000O00O0O00O0DOOODOOOODOOODOODOODOOOD
OON=0000N=1.02980 0000000000 158240 0000000000
ggooobobboooEebboooooooobboooooooboobooBbbooooo
gooboooo0oooooobooo0ouoooobooo0ogoooobobOoON=1.060700
N=1.02980 0000

14



00000000000000000000m@mOo0000o0

gi1ioooooi1boo0oogsooo

ooogi

i=1

i=2

i=3

i=4

i=5

@

POOOO
MSCO O
(0ouyo

P =0.10

P =0.54180

P =0.750

P =1.00

P =15

@

O000Eio
DDO OO
ooo

(0.5292,0.1)
0oDDOOO

(1.0190,0.5418)
0oDDOOD

(1.0607,0.75)
DDO O 0
ooooo

010,100
gobbo0OOo

(0.0,1.5)
gopbbood

(©)

000Jdio
MSBO OO
ooo

(1.0298,0.1)
ooMsBOOO

(1.0190,0.5418)
ooMsBOOO

(1.0117,0.75)
ooMsBOOO

01.0,100
oowmMsBOODO

(0.9554,1.5)
0OMSBOOD

4)

gooood
[RERERRRING i
ppoOooo

ooo

(1.0298,0.9297)
0O0DDOO D

(1.0190,0.9582)
0ODDOO D

(1.0117,0.9752)
gobboOoo

01.0,100
gobbOoOo

(0.9554,1.0757)
0oDpDOOD

©)

ooooo:
00Jdir 0o
oo

0.8297

0.4164

0.2252

0.0

- 0.4243

O]

ooooo
oooo

1.5824

1.1296

0.9182

0.6667

0.1760

@)

000 JdFo
DDO OO
goo

(1.0298,0.5703)
oobbooa

(1.0190,0.5418)
0ODDOOO

(1.0117,0.5248)
0ODDOOO

01.0050
gobbooo

(0.9554,0.4243)
0oDpbOO0

()

ooo
ooooo:
00J3JFD
0o

0.4743

0.0

- 0.2252

- 1.0757

C)}

0 Gio
MSBO O O
ooo

(0.1822,0.1)
0DOMSBOOO

(0.4199,0.5418)
0OoMsSBOOO

[00.4914,0.75 0
gomMsBO OO

0 0.5636,1.0 0
goowMsBOOO

(0.6798,1.5)
0OMSBO OO

(10)

ooooo
ooooo
ooooo:
0 0 GiGiy
ooo

- 0.0889

- 0.4805

- 0.6646

- 0.8853

- 1.3257

1

ooooo
oooo

- 0.0122

- 0.1524

- 0.2475

- 0.3796

- 0.6918

ooo

010 pOO0OMSCOOODDOOOOOMSBOOOODOOOOOODOOOOOODOOOOOODODOOOOOD

0oo0oo0o0o00oo0ooon

020 000oo0:0000000000000000
g3 oooooooooooooOoOooon

15




gr7obooooooobpboboooobobooboooooMsBOO0 Mooooo
gbopOObOO0OO0OOO0ODODOOMSCOOO
gobobiopPObOO0ODOWLMOOO0ODODOO

P
E‘
" <—— FEHMSB HhfR

F(0.75, 1.8750) 'Kl 107710, 1.8769)

1'8750_____E_—'_': .-,
17391 — — — — —, = 2l
1.5 | a '
DD
A’/| Q’(1.0, 1.0)
10— — — — — . ler(10298 0.9297)

o B(1.0607,0.75)

J1(10298 0.1)
0.1 Y o  wm U1(T—A—1)
0.0 z

C 01822 ﬁ.5219 0.7710 1.0,W/978 = 1.0607

. E1(0.5292,0.1) =0.75 "N,
epsopiig ¢ ) 'l K> (1.0316, 0.0)
HIEMSB :>:|

]
[ ]

K

ooo
010NOOPOOOOOODODOOOOOOOOOOO
020 OOCBA:DDOOODOOOOOOODDOOOO
0 00 O00CBOOOOOOOODDOO:
P=14(30V9O8N?)J000000 POO75000.00 NOV9/BO
0 00BADDODDOOOOODDOO:
P=1430V908N\N?)00000750 PO15000.00 NOV9/BO
030 DOOCFHOO OOKKIA:MSBOOOODOOOOOODOOOOO
00OO0OCFHOOOOOODDOOOOOODOOOMSBOOD
P = 1/4{8N2+3+(16N20 9V O8N2}0 00 0P O 0000 000 NOVO8 O
0 00KKIADOODOOODDOOODOOOOOOMSBOODO
P =1/4{8N2+3+(9 0 16N?)/V9 O8N2}0000P 0 1.876900 0.00 NOV9/8 O
040 O0OLL:POOOOMSCOOODDOOOOODOOOOOOOOO
P=010000NOODO
0000O00POOOMSCOOOONDONOOOONODONOOOOODm

16



00000000000000000000m@mOo0000o0

or7rooon

050 0OE1(0.5292,0.1)0 0 0J1(1.0298,0.1) 0 00 00000DDOOOPOOOOOOOOO
000OMSCOODDOOODDOO0OPCOODOONOONOOMSBOODODOOOOOO

060 0D0JJIT000:00000 O 0.8297 O
0000000000000000000000X000000POOOOOOOOOO
OMSCOOODOOOOOOOMI 0 0000000O0DDOOOOO0OJn(DJ000
MSBOOOOOOOOODOOOOOOOOOOOOOOOODDOOOOOOJrOO00O0O
00000DDOO0O00 0000000 000000000M

070 D0OLKIADOD: 00000000000 00000000000 0 158240
0000000000000 O000N=1.0208000004000GSBO0000000
00016854 0000N=1.02980000000P000000000000OO00OO
00.1030=Px N=0.1x 1.0298 00 =1.582400000 M

080 DO0JJFODO0:00000000 O 047030
0D0JF000XM00000000DDOOOOO0O0O00000ODDOOONONO0O00O000
0oo00o00o00o0m

090 0OGD0.1822,0.1000000000000000000000000000
00000000000000000000000000000000000C0O00MSB
0O0O0OMSCOOOOOOOOOOOOOOOOOONOOOO0A00000000ONoNono

O 0Gi00000000000000000000000 M

010000GiIG000:0000000000000000 O 0.0889 O

011000CcGiLi000: 0000000000 00.01220

00 0000000000000 00ON=04182000004000GSBO00000000
0000.00610000N=01820000000P0O0000C0000000000O0O
00.0182=Px N=0.1x 0.182200 =00.0121 0000000000000 00.012200
oooom

4-2 00O0O0O200 80O
go0oedoobpibooooooobobooooobon
gooobobDEed0obobORRbOOOoOooOODODOOOOO0OODODODOOOOODDODOOO
gogobobooooboboooobobbooorroboMSBOOODODOOOODODOOOO
gboooooboooppboboooooboOokRRrO0bO00OO0ODO0OOOOOODODLOOODO
00000 RRIOODOO041640000000000000000000000O0O00O0
N=1.01900000000000000000 P=0541800 P=0958200000000000
gboooobOobbooooboboobobOoLekekKiADOODI129600000000

17



gsgbouoboobooobbbobobobooooooobooMsBOOD MoooO
gobooopPOOO0ODOOODOOOOODOMSCOODO
U0 D OobOo20pPOOb0ODLL200000000

P

12 MSB fh 5

e

F (0.75, 1.8750)~ ¢ ]

Lg7s0g— — — AP ’__‘f1_<1.(0.7710, 1.8769)
77777 . o - 't l Q‘

I .

\ | DD

/ L]
! 1 }Q (1.0, 1.0)
10— — — — — — ' — 1 — S 121(1.0190, 0.9582)
: - B (1.0607,0.75)

L (T —2)
f IQ{,(]%z(,)J%) ,SJ)ZF (1.0190, 0.5418)

' K’ (1.0316,0.0)
JA 0.7710 1.0, 1/9/8=1.0607

0.5219

X 1, L0.4199 0.75 1
[EBSDDHRR 0 9954 ]
1 EEMSB Hh >

ol
.
K

ooo
010 NOOPODOOOODOODODOOODOOOOOOO
020 0OCBA:DDOOOODOOOOOOOOOODO
000CBOODOOOOOODDODO:
P=1/4(30V908N)J0000.00 POO.7500 0.00 NOV9/80
0 0O0BAOUODOOODOODDOO:
P=1/430V908N2)J0DI0U0.750 PO1500 000 NOV9/80
030 OOCFHODOOOKKIA:MSBOOODOOOOOOOOOOOO
0 0O0OCFHOOODODODDOOOOODODOOMSBOOO
P = 1/4{8N2+3+(16N209)/Y9 O 8N2} OO DO DOPO 0000 0.00 NOV9/80
0 0O0OKKIAOODOOODDOOOOOOOODOMSBOODO
P=1/4{8N*+3+(9 0 16N?)/Y9 O8N2}JU DU UP D 1.876900 0.0 NOV9/80

040 O0Lel2:POODOOMSCOOOOOOOOOOOOOODOOOO

18



00000000000000000000m@mOo0000o0

gsoooo

000 pP=054180000NDO 0O
gooooopoOOOOMSCOOOOOOOOOODOODOODOOOMmM

050 0OE21.0190,0.5418[10 0 0 Jp]1.0190,0.541800 0 000000DDOOOPOOODOO
goooooooMscooooooooooopPCcObODODODOMSBOODOOO
oooogo

060 O0JJt000:00000 O 041640
gobooooooooooobooooobooOoOoboJoooboboOoPOOODOOOOOOOO
MSCOOOOOO0O0ODOO0OO0JXRO O0DO0DO0O00000DDOOOOOOJeTOOJ2000MSB
goboooobobooobooOooOobOoOoOobOOoOoOobooOoDbOOOOObObOJerbooOoon
O0O0ODbDOO00O0O0OJrOO00OnOO00O0000O000O7

070 OD0LeKiAOOO:000000C0C00D0O0 O O0O0ODOOODODO0O0O O 1.129%0
0000000000000000N=101900000040006GSBO0000000O0OO
gdle8l70d0ON=101900000000POOOOOOOOOODODOODODOO
00.5521= Px N=0.5418x 1.019000 =1.1296 0 0000 M

080 U0D0JJlFOOD:00000000 0000000000 O 000
O00JkFO0O00XOOOOOOOODDODOOOOOOOOOUODDODOOODODOOODO
gooooooooOg

090 0G20.4199,0541800 000000000000 OOOOOOOOOOOOO
gboboooooooooooooobobooooboooooooobooOoooooooMsse
gooMscOoOOOOOOOOOO0OOOOOO0OOODOO0O0O0JOOOOOODOODODO

ooboobecCbobOOoObObOOoOboOoOoOoObOOOOOOOOODOO

0100 OO0OGeGeyOODO:00000000O000O0O0O000 O 0.48050

0110 0DO0cecel2000:00000D0OC0O0O O D0o0.15240
gboo00obooO0ooobooOobDOoON=o0419000004000GSBUOOOOODODO
gob0oo.o7510000N=04190000000POOOOOOOOOOODOOODOO
00.2275=Px N=0.5418x 0.419900 =00.1524 000000

4-3 O0O0O0O300 o0

O00EBE00ODDOOOOODOONOB(1.0607, 0750 000000000000 EsdDDO
oobobooooboooooboooooobooooOoboOoOoOoOboOoOoOoOoOoOoOooobOon
gbobooooboobobooboobuobeooOoboboooooobO0BO0OoOoDOOooboo
oooo

ooooobOpOoOOoMSBOOODODOODOOOOOOrOOoOoDDOOOOOOOOOO
O000JBBO00002252000000000000000000000000000O0O0
N=1.060700 N=1.0117000000000000000000O0000000O00O0 L3J3KIA
ooooosis20000non

19



gotooooooobpbobooboobooboboooooMmsBOoboooooog
goopOOO0OO0DOOODOOOOMSCOOE
Ooo030pPObO0O0LLs0ODODOnO

P

H

-<— 1FBEMSB B

: |
. |

F (0.75, 1.8750) o} |
87500 [(075, L8T50)~ \:r K1 (0.7710, |1 .8769)

., . |

" | @%DDH
A’/

C’ (0.6488, 1.3444)|/f'| ] )/Q (1.0, 1.0)
10— — — — — o I N J31 (1.0117, 0.9752)
ne G ¥ H(T o7, o7\5)~ B, E3(1.0607, 0.75)
0.75 '—'—'—LW'T'*T'—' _._L’3(/7'—7<—3)
0~5401555 —_—_—_—_T'_ﬂ_—_r_ 0 (1.0190, 0.5418)
: . q:bl: (1.0117, 0.5248)
' MR (1.0, )
0 0.4914 0.7710 1.0 \/W:.mém

]
. ,0.5219 JA 0.75 1
TEBDDIIER 09954 g
18 FEMSB iR >:|
Y

K

ooo
010 NOO POOOOOODODOOOOODOOOOO
020 OOCBA:DDOOODOOOOOOOOOOOO
00O0CcBOOOOOOOODDOO:
P=1430V908N2)0000000 PO 07500 000 NOV9/80
0 00BADDOODOODOODDOO:
P=1/4(B0V908N?)0O0D0D0.750 PO 1.500 0.00 NOV9/80
030 DOCFHOOOOKKIA:MSBOOOOOOOOOOOOOOO
00OO0OCFHOOODODOODDOOOOOODOOOMSBOON
P = 1/4{8N2+3+(16N209)¥V 90 8N2}J0 00 0P O 0000 000 NO VY8 O
0 00OKKIADOOODOOODDOOOOOOOOOMSBOOO
P =1/4{8N2+3+(9 0 16N2)N 908N 000 DOP O 1.8769 00 0.0 0 NOVIB O
D40 O0Ll'sPOOOOMSCOOODODOOOOOOOOOOOODO
P=0750000NO 00

20



00000000000000000000m@mOo0000o0

gooOnooOO

000000PODOOOMSCOODONONDONONDONONODONONODONONDmM

050 OH31.0607,0.7500 00J@1.0117, 0750 0 000000DDOOOPOOOOODOO
0O000O00OMSCOOOOCOOOOOOOPCOOOOOODOOMSBOOOOOOOO
ooo

060 00JJsr000:00000 O 0.22520
0000000000000000000000J000000PO00O0OOOOOOOO
MSCOODOOD0D0000Jk0000000000DDO00000JTD03000MSB
000000000000 0000000000000DDO0000N0J:r000000
0O0O00ODDOOONONONJIONONONONONONONONONDOd

070 OO0LJsKiADOD: 00000000000 D0 0000000000 O 0.91820
0000000000000000ON=1.01170000040006G6SB00000O000
00016770 0000N=101170000000P0O0000O000OO0OO00O0ODOO0
00.7588=Px N=0.75x 1.011700 =0.9182 0000 [[J

080 0OO0JJF00D0:000000000 O 022520
00Jr000J00000000DDOOOOO000O0O0O0O0DDONOONONOONOnOn
0O00oO00oooom

090 0G3(0.4914,0.75): 00 000000000000000000000000
0000000000000 0000000000000000000000000MSB
000OMSCODOOO0ODO0O0DO0O0NDO000NDN000NNJ000000000000
0G:000000000000GIO0000000On O

010) 00GsGyI O D:00000000000O00000 O 0.6646 O

011) 0O0CGas000: 000000000 O 00.24750
00000000000 00000N=04914000004000GSBO00OO0OO
000001211 0000N=049140000000P0000000000000000
00.3686=Px N=0.75x 0491400 =00.2475 00000 [[J

4-4 0O0O0O0D0 400 100

UO00EsJ0O0DDODOOOOQA.0, 1 0)booooooboon

00000 EO0D00DOODODOO0DOO0DO0DOO0DbOOOOMSBODOODOODOODOODO E4
goobpbooboboooobbbooobbooobbbooobboooobbodN=1o
gogboogop=/0o0000000D0O0O0OO0DOODDODOODOOODDOODDODOODOOO
googoobooobooobooobobooboobbooobobooboobooobDbooobDOoon
LasKiAOODOO066670 00000

ggobboomuoobobooobobbooobbooobbooobbooobboo
goboboooooobooboooobobooooboboobooboboobooooDoboon
gobooboobooboobooboobooboobooboobbobbobbon
goobbooobbooobbooobbooobbooobbooooD™obboooo
gboooobooooboboobooobobooobooboobogoo

21



gloobooboobooobpbboboooooogobooboobooMsBOOOgO
gbooooooopOObDODbObDOODOODODOMSCOOO
goboob40PODOOOLLLsODOD0ODOODO

P
<— TEEEMSBHR
,4 |
. |
F (0.75, 1.8750)~ ¢
| 8750 *****E**\A K1(07710,H8769)
1.7391¢ — — — — — » .
1.5 ] L
' /\@%DDE@@
Q’, J4, Jar, E4 (1.0, 1.0)
I.OL ) — — — ds J. ) )./—-—L’ (r—A—4)
0.75¢— — — — — — o —|—H—__| B (1.0607, 0.75)
0.54]18@— — — — — & 4 — —
g ____',_:H_|_ ( (1.0190, 0.5418)

|‘T\R Jar (1.0, 0.5)

0.1147 .L/K (1.0316, 0.0)
0 l’? N
0.5219 0.7710 1.0, N9/8=1.0607

n 10.5636 075 1
EFEDDHIAR  .6488 ]
15 EMSB i > 1

.

K

ooo
010 NOO PODOOOODOOODOOODOOOOOOO
020 00OCBA:DDOODOOODOODOOOOOOO
0 00OCBOODOOOOOODDODO:
P=14B0V908N)JO0DDO0.00 PO 07500 0.00 NOV 980
0 00BAOODOOODOODDOO:
P=1/430Vv908N2)00000750 PO 1.500 000 NOV9/80
030 DOCFHOOOOKKIA:MSBUOOOODOOODOOOOOODO
0 00O0OOCFHOODOODOODDOODOOODOOOOMSBOOD
P=1/4{8N2+3+(16N209N 908N*}0 00 OPD 0000 000 NOV9/80
00DDKKIAOOOOODODDOOOOOOODOOMSBOOD
P=1/4{8N>+3+(9 U0 16N* )V 908N2}0 0 00P O 1.876900 000 NOV9/80
040 DO POODOOMSCOODODOOODOOODOOOODOOODOO
00 P=100000NOOD
ooooooPOOOOMSCOODOOODOOOOOOOOOOOOMM

22



00000000000000000000MOo00o00n
glooooo

050 OE&1.0,1.00000JA1.0,1.0000000000DDODOPOODOOODODOODDO
OMSCOOOOOOOOOOOPCOOOOOOOOOMSBOOOODOOOOOOO

060 00J00D0: 000000 0000000000
00000000000 00000000000JIO0OO0OPOOOOOOOOO0
OMSCOOODDD000000MID0O0O000000DDOOO00Od00Ja000
MSBOOOOODOOODOOOODOOOOOODOOODOODOODODODDOOOOOOMO00
0000000DDOOONONONOJOINNNMONNNDNONONON0m

070 D0LMKIADOD:OOOO0OO0OO0O0O0 O O0O000000000 O 0.66670
000000000000000O0N=10000004000GSBO0000OOO0O0O0O
016667 0000N=100000000P000000000DO000OO000OO001.0=Px N
=10x 1000 =0.6667 0000

080 D0JFOO0:000000000 0050
00JF000XMOI0000000DDOOOOOOOOOOOODDOOOONONO00000O
0000000 oOm

090 0G@0.5636,1.00000000000000000000000OO0ODOO
000000000000 00000000000000000000000000MS
BOOOMSCOOOOOOODOOODOOODOOODOOOODOOMIODOOOOODOOOO
00GO 0000000000000 000000000mM

010000GsG000:0000000000000000 O 0.88530

011000CG4000: 000000000 O 00.3796 0

00 0000000000 0O00000ON=05636000004000GSBO0O000O0O
00004840 0000N=056360000000PO00000000O0O0O0O0000
00.5636=Px N=10x 0563600 =00.3796 00000

4-5 0000500 110
goooobooboobooboobopOOb0Oo0OoOOOOOCOOEODOODDODODODOD
A0, 1.5000000000000
O0O0EOO0O000000000000000000000000000000 JsJstd0
gpo42430 00000000000 0OO00O0O0O0OODO0ODO0ON=0000N=095540000
goboobooboobobbobbobbobLLsiski Ao oo.17e00 0nogn

ggoboogisgbooMSBOODODOoooooooooDJsrogobDbUOObOOoOonDDOO
oo

23



giuoogooooopbdoboogooooooboooMsBOOOoogg
gbopPOObO0OO0OOOODODOOMSCOOO
g0 OOobOOosOpPOOb0OD0LLLsDOO0OCOODOn

P
ol
‘{ﬂkMSBdﬁﬁ
,4 |
. \
F (0.75, 1.8750) \
Lgrsoe_ (075, 1875 _\:_rKl (0.7710, ‘1 8769)
17391 — — — — — s Sl
s . s 5 (0.9554, 1. L0, r—z—5)
] @zmmm
{151 (0.9554,1.0757)
1.0757@ — — — — — Q (1.0, 1.0)
I. A L il [ \
0.75 —— —— % — H— — ] B (1.0607, 0.75)
0.54i5g — — — — & (1.0190, 0.5418)
: . 74(0.9554,0.4243)
0.1743¢— — | K’ (1.0316, 0.0)

0.5219 —T T_O.7710 1.0, N9/8=1.0607
n ! 06798 Lo7s 1|
TEHDDh# 0.9554 :‘
12 IEMSB Hhi B,

K

ooo
010 NOO POOOOODOOOOOOOOOOOOO
020 OOCBA:DDOOOOOOOOOOODOOOO
0 O0O0cCBOOOOOOOODDOD:
P=1/430Vv908N2)00000.00 PO 07500 0.00 NO V980
0O O0O0BAODODOODOOODDOO:
P=14(B0V908N?)00000.750 PO1500 0.00 NO V980
030 OOCFHOODOOKKIAMSBOOOOOOOOOOOOOOO
0O0OOCFHOODOODOODDOOODOOOOOOMSBOOO
P = 1/4{8N?+ 3 +(16N20 9V 9O 8N’J00O00OP D 0000 0.00 NO Vo/s O
0O00OKKIAODOOODODDODODOOODOOODOMSBOOD
P=1/4{8N2+3+(9 0 16N2)¥ 9 08N2}0 00 0P O 1.8769 00 0.00 NOV 980
040 O0Lsls: POODOOMSCOOOOOOOOOOOOOOOOOO
P=150000NO 0O
O00000POOOOMSCOOOONOONONONONONONONOOOOOOMmM

24



00000000000000000000m@mOo0000o0

g11g0ooo

050 0OE§0.0,1.50000J90.9954, 1.5 0000000DDO0OOPOODOOODOOO
O0DOMSCOODOODOODOOOPCOODOODODOOMSBOODOODOODOODO

060 00JJsTOOD:000000 O 0.42430
00000000000 000000000000J000000PODO0ODODODO
OMSCOOOOOODODOO0J0 0 00000000DD000000Jst00Js000M
SBOODOO0DODODOOODOO0OODOO0DOOODDOODDOOOOONJFIO0O0O00
0000O0DDOOOD O00JsT00000000000000 M

070 O0LsJsKiADDO: 00000000000 D0 0000000000 O 0.17600
0000000000000 00ON=0.9954000004000GSBOO0ODONOON
00160920000N=0.95540000000PO000O0O0O0O0O0O0O0O0OODODONO
01.4332=Px N=15x 0955400 =0.1760 0000

080 00JJsk0C0D0:000000000 O 1.07570
O0JsF000Js00000000DDOO0O0DNDNDNON000O0DDONN0OOONOon
ooo00oo0oooooo

090 OGHO0.6798,1.500 000000000 DODOODDODODO0ODOODOO
0000000000000 000000000000000D0000000000MSB
OOoOMSCOODOOODOODOO0OOO0DODOO0OO0O0O0ONsO00000NOnO0nono
0Gs00D000000D0D000D00D0O0D0ON0O0Dm

010000GsGsvD 00:0000000000000000 O 1.32570

011000CGsLs000: 000000000 O 00.6918 0
000000000000 0O000ON=0.6798000004000GSBOO00DOO0ONO
00D00.32800000N=0.67980000000PO0D0D000O0OO0OODOO0

01.0197=Px N=15x 0679800 =00.6917000000000000000.691800
oooom

4-6 0OMSBOOOOOOOOOOOOOOO
g4000GSBOOOODOOOODOOOOO0O0Os000000 P(N)OcOcO 0.100.54180
o75010015000000000C00O0C0O0O0COO0O0O0O0OOOOODOOGSBOOOO
oooooboooMSBOOOODOOOOOODOOOODOOOMSBOODODOOOOOOOOOO
ooboooooocooboooooMSBOOOOOOOOOOOOOO0OOOOO0OO0O0O00000
oobobo0o0odrooOOOGSBOOOOOOOOOO
0000a000000GSBOODOO100000GSBOOODODOCBIBZ 000 GSBOD
00o0BicO0O0GSBOOOOOCCIOODODOODOOOOODOOOOOOOLODOODOO
GSBOODO200000GSBOODOODOCBYBIB0 0D GSBOOODOOBSBCOOD
gscubdoocc:bobooobooboon
gocessOooolioooooOoGSBOOOOOoOoOGSBOOOOOOOO0OO0O0OO00
oGgsBO OO GscOoOoooOoOoOooouoooOoooooooboOooOoOoooB¥OOOOO
ON¥*»00ONODOODOOOODOOOoooooerooGsSBOOOOOOOOOOOOOO

230 ~=~Nt O dGSBG(N)/NLO dGSC(N)ANO O UODOOOOOOO0OO0OO0ODOO0OO0OO0O0O0O0OO000O0O0000O0O0

Oprc:0000000O00O0O0OGSBGIN) DOODOOOOODOOOGSCN)OODDODOOOOOOODO
ooo

25



Dl12000000000GsSBOOOO0OOOOOOOOGsScoOm
NODOOONDOOoGesBOOOOOOOOOOOoOoOo20000G6sSBOOO

DaggoesBUOdnoo1

P ;
ERSGSBHifR o

$ B1 1
GSCIE

<—+—— 1HIHGSB i #R

|

|

|

. N
N1

ObOOOGsSBOOOO2Z2

P

18 B GSBHIT R

26



00000000000000000000m@mOo0000o0

0120000

ooo
010 NOO PODOOOCODOODOOOODOODOO
020 0O00GSBOOOODOOODOODOODOGECSOOOOOOnOnD
030 0O0GSBUOOOO100D000DGSBOO:
0 0OCBiB2: 00GSBOO
0 0O0BiC:0OGSBOO
000B}0ODGSBOOONODODOODODOONICODOONYODOOGSBOODODODO,O
oooooBinGsSBOOOODODOODOPOOODODOODOODODOO
040 0OOGSBUOOOO2000000GSBODO:
g 0 OOCB3B3B3: 00GSBOO
g 0 00OB3C:00GSBOO
000BOO0GSBOOODOODDOODONDDOOONSIDOGSBOODOODOODO
00000B0GSBOOODDONODDOPOOODODOODOODDOO
050 OD0OGSBODOOOGSBOOIDOOGSCOODOOODDODDDODGSBG(N)O GSBR(N)O
0O0GSCNDOODODODDOODOODOO0DOODDONDOONDoONonoon
O0O00ONODDDOOGSBOOOOGSCOOOOODOOODODODDDDOONDDO
ooooDO0OO0OooDog
oooooDool
dGSBG(N)/dN =dGSC(N/dN D OO DU0DOO00OO00D0O0 =00000000000
ON*ONODODOOODOODODOOODOODDOOoODBiC*00D0O00nng
ooooooo2
dGSBG(N)/dN =dGSC(NydNO OO OOOODOOOOO =00000000000
ONDO200N(0O0ONOO00O00OO0N B000000O00ON 000000
O0DO00ONODOOOCODOODOODOOOODO0OODa0OBsCs0000000O
00000D000000000000000B,CL 000000000

ooooMSBOOOoOooOoOoooooMSBOOOoooooono

00GSBOODOD20000N=NS00000GSBOOODODOGSBOOOOOODOON
NON ODOOODODODODOD0O0000000MMGSBOO0OGSCODODOOOODOOn
00000000000000000 B:000000 N¥200ONODODODODODDODDDOOOOOO
OB:000GSBOOOOODOOODOOODOOODOOOOMSBOOOODOOODOOOO MSB
00000000000 MO000000000000B; 00D0DD0D0OONDOOON;»0Q0
od

00000 120a0000b0000GSBOOOOOO0OOO0O0OCOOOOO0OO0C0ODOAO0
oooooobOooooooooobooOoboOooboOoooooomooooooooooDoOon
oboooooooooooobooboooboobooo=oooobo0oooooooooonoa

240 ~V=N¥ 0 dGSBG(N)/AN[ dGSC(N)ANO OO0 D0O00O000O0O00OD0O0O0O0O0ODO0O0D0O0O0O
0BxX*000000000000GSBGIN)DOOO0DOOODOOOOGSGN)OOO0DDOOO0DOODOOOO
od

250 ~=~N% 0 dGSBG(N)/AN[J dGSC(N)/aNO 0D 0000000000000 000000000000MmM 00
oooooOoooo e, 00000000

0000 000000OMSBOODOOOOOOOOOOOOOOODDOO

27



gogbooobooboobooo

5 0000
ooboomoooboooooobooootomooOoOooooooooomooon
gobooooooooooooooooobooooooooooboooooooooooonoa
gobobooooooboooooooboooOoooooooOOooooooomooooboooo
goobooooooboooooobooooooooooobooooooboooooooooooonoag
gboooooooooooooooobooooooooooocoobooboooboooooaon
gooooooo
gimbooooooooooooboooooooooooooooo=booobooooog
oboomooooboobooooboobooboobo=>0000
g2000boocobobcoobocoobooobobooooom@muooooobooboooobooOoooo
oooobooooooooooooooooooooooobooOoooon
030 oobooooooooooobooobooobooooooooooooooooooa
ooboooooooOooOooOoOoOoOobOoOo0oOoOoO0OO0oOOOoOOOoObOOobOOoOooan
ooooooooooobooooon
gooooboooooo*>gmoboboooooboooobooooboobooobooboo
ubooooooboooooooboobooboooOo0obOoOoboooboOobOOobOoOoOobOOoboooooe g
goooooboooboomooooooooooboooboooobOoOoooobobooobooOooog
gobogoooobooooobooobobooboobo=000b000000b00o0ob0o0oDn
gobboooobooboooooooooooooooo»00oboOo0oboobooobobooooboa
oooooobOooobooomooooooooobooooboooobOooooobobooobooooog
gobobooooooooooooooooooooooooooboooooooooooonoad
go*oooo
ooooooboooooboooooobooooobooooobooooooooooooOoooDo
goboooooooooooooooooooynsbooogooooooooooooonod
boboobooooobooobooOooobob204C0b00b0O0O0ObOOO0OOObOOObOOOOO
gooooobooooboOoboobooooooooooooooooomoooooooog
goboboooboboooomooboooooobooog pPOANM)ODDOODOODOOD

000ooooobo0o0oooooboboOooooooOoboc0o0ooooOoOoOoOooooooboOoOooooon

0020000000000 0000O0OCO0O

wooomoooboooooooobooooo

300 0 O O O Kawashima (1980)0 00 0 0 020040200700 0000000002000 000000ODO 020090
goooDooo

3l 0000o0oooo

3200000000000000000000000000000000000000000000O00O0O00O
gooooooooooooooooooooooooOooOoOoOOoOOOOOOOOOOOOO0O0Om DO
gooooooooooooobooono

gooooooooooooboooooooooboooooboooooooboOooOooooboOooooooo
gooooooboooooooobooooooobooOoOoOoOooOooDOOOOoOoOoOooooo

doo00mooom

28



00000000000000000000m@mOo0000o0

oooobooooboooobooooobooooobooooooboOoooobooOooooboOon
mMONODOOOODOOO*QOODOOoO0OOOoDbOOo0O0ooOMOPOODOOPOfAN,PODOO
ooopOO00C0O0O0OCO0O0COOOOOO0DOMOOCOOOOOOOOOOODODOCOODOO
oobooooooooooooooooooooobDoobDooboboOobooboOooooooe
ooo0oooooobOoOo0oobDOo0o0oooOboO0ooooOoOOoooDObOOoooDOoOO0OoooboOn
boooooOooooOoooooooOoOobOoOoOoboOoOoboOoOoboOooOoOobOOomoOoOoOoDooOon
oobooooooooooooooooooboboooobooooNOoODOOoOoDOOoOooDoboon
uboooooooooooooooooooNOOOOOooooomooooooooon
smO00000o0O0o»*»0o00b0CcO0ob0c0obO0b0Obcb0Ob0O0ObO0ObOO0oO0bOOObocOoDOOoDnn
oobooooboooooooooooobomoooooooooooooooooooDon
gooooooooooboooboooboobbobobooobooobooboooo==goobon
oooboooooboooooooOoboOoooobobooooon

goobooooooboooooboooooooooobooooobooOooooooooon
oobobooooobooooooooooobooooobooooobooooooooooogn
oooobooooobooooobooooooboooOoOoboOoOoooOboOoooOoOoboOoOoooOobOon
od

goboooooooocoooooooooboooooooooobooooooooonooon
obooooooooooooobooboocOobooboOooOooobDOobooOoOoOo+x"OO0Ob00O0OnboO
ooooooooboooobooooobooooobooboooooboboOoooobooOooooboOon
ooooood

[Dooo]

0000020050 [000000]00000000000000000000000

0000019750 00000000@0000)I0 0000 02903000000000
00040 1400

00000000000000000000020040000000000000000000
00 —000000000000000000000000000 —D000000
OARSCOD 180000000 MD20040 120 110 M O0000000000000O

00000000000000000000020070000000000000000000
00@M0O00000000000000000000000000 OMO0O00000
00004400300000000000203026200

0 00MOo0ooobD pOaNNODOOOOODOOOD

30 000000000 O0OO000000o0oo00ooooooboooboo0oooooobo0oooboobooooOooooo
gooo0oz204000000000

37y o000 OoooooO0o0o0o0oooo0o0o0ooooOoO0oO0o0oOooooOm@OoOoooboooOoo0o0on00noon
goooooooooooOoOoOoOoOooooboOoOOOO0O0OoOOOO0OO0O0O0OCOOOOOOOOCOOOO
gobooooboooooooooOoooooobood

30 0000000oooooooooooobooooooooboOooooooDO

o0 0000000ooobooboooooooboboOoooooobocooooooDooOobOoag

400 O0OO0400070000000020000 700000000000

410 000000000000CO0000DOO0O0O000OD0O0O000200500020s5-2590000000000

29



0d0o0oU0ooUoooooogoz200ooooDoodoooooooooooomodg
ooooooooooOooooOoOooooOooDoO0ooo0oobD Dmoooooooo
0004600 100000000O0CO31O06700

000o0ooooooo200000000000D00C00000000O0O0O0OO0ONGOO
ooooooooooooooooOoOooboOoOoOoDOooOoOooooOoooooOoooDo
OO0 0OO00ODOoOo0O0bOOoOoOdO4e0020000000000O01710 18600

Buchanan, J. M., 1965, “An Economic Theory of Clubs,” Economica, Vol.32, No.125, pp.1-14.

Kawashima, T., 1980 “Optimal Congestion Tax of Expressway: A. A. Walters Re-examined, P. K. Else
Re-appraised, and Demand-surface Paradigm Re-considered,” Gakushuin Economic Papers,
Vol.25, No.2, Gakushuin University, Tokyo, pp.47-74.

Walters, A. A., 1961, “The Theory and Measurement of Private and Social Cost of Highway Conges-
tion,” Econometrica, Vol.29, pp.676-699.

Wolfram Research Inc. (2004), Mathematica 5.1 (computer application software), Champaign, Illinois.

30





